TDEAERN ST

[&#3]

FrR21%7AH

B BUERAR

1



L2 1FEOEEMFE

@ lz}ﬁ21 J:EF%/I% 7/-#\- KO ITHTEEL S 4] & DR

—REEYSPITE =  369{E5, 500 5 H L2, A%F>
BRI Y PE = 269{86, 31851, 0009 < 1. 0% >
= 6391, 81851, 000 < 1. 8% >

2 —MWB=EZBTEOEE () mmaouzmmm o

mA = 1B = 248{84, 458 559, 0009 (67.2%) <0. 4% >
EE Y H4 = 32/87, 63153, 0007 (8.9%) <0.9%HE>
mH = BEA# = 119/E8,619558, 000 (32.4%) < 3. 0% >

s T A 50{E8, 626 58, 000  (13.8%) < 10. 9% >
HEE =  A7E4, 577 HH (12.8%) < 11.2%>




50,000,000

45,000,000

40,000,000

35,000,000

30,000,000

25,000,000

20,000,000

15,000,000

10,000,000

5,000,000

S FEDH

-

%

(B H)

o LY E
[T

--A-- REE
—a— t K&

I==
43018

36918

11

12

13

14

15

16

17

18

19 20 21

FE




BZ=aT)

AT (=

ﬂ

D

EmEA A
5B
——AD

=

50,000,000

N
\
/.

i M)

(E

180,000

A

- 160,000
- 140,000

- 120,000

- 100,000

il

R R R L B e e R R GRS (A B e S

AT e G TR bt

EED RN

b ]

A el Y] G TN N R R Y

L
IRERNERENNRENNRNDNERERERINENRERNNNENEREN]

EREDEREEHER

T e e e

ST TR S 3 et Y

R A R e SR

45,000,000
40,000,000

35,000,000

30,000,000

25,000,000

20,000,000

15,000,000
10,000,000
5,000,000

9 10 11 12 13 14 15 16 17 18 19 £&E

8




(B H)

A

ANRY
\
A

A SE

}
== \_

=10

000
000
000

N
N
/.

475

—— —BREHRN_
—— \\ N

39118

0 O
A O
1 O
10O O A
A A
00 O
A 0O
0 0
(N T T
(T A
A0 A
O 0 O O
0200 A
Y0
A

can NN DA

000
000
000
000
000 -
000
000
000
000 -

llllllllllllllllllll

IIIIIIIIIIIIIIIIIIII

50
47

45

42
40
37
35
32
30
27
25
22
20
17
15
12
10

7

5

2

11 12 13 14 15 16 17 18 19

10




12,500,000
12,000,000
11,500,000
11,000,000
10,500,000
10,000,000
9,500,000
9,000,000
8,500,000
8,000,000
7,500,000
7,000,000
6,500,000
6,000,000
5,500,000
5,000,000
4,500,000
4,000,000
3,500,000
3,000,000
2,500,000
2,000,000
1,500,000
1,000,000
500,000

0

REDINT =R
1
/ XL (B4 FA)
——R4E
BEE /—\ 1081&
EHKEZE 7 /
| / A g |
——HE b4 A~ R - | X
—— BEE / ¥ \
/ /‘/X\ NN\
/ o A T el
— X~ W \ A
P N / /1 \\ ‘\?\\ \\// N\ —
:// = /:>‘Q/ \ A
)’/ — /A\ \&( \\ ik
/ X /N A \ AN
/ \0\,\\ = = - _ -
7£’/3 / 3
1I2I3I4I5I6I I9I10 11 12I13 14I15I16I17I18I19I¢f§




e P ++ A >
T T | \
] 37 = N7 / =
(B FH)
50,000,000 P
——THERS 4501&
45,100,000 7 1 5T FIE B 4A
—e— i {EE ASE hEES e .
40,000,000 ~— v\‘\37"—:5‘,\—
35,000,000 //
30,000,000 /
25,000,000 //
20,000,000 —
/000, Ee—— BULEEE
15,000,000 P S
‘-/./I/‘\( ‘-\-/.——-\-\-\ 1014&
10,000,000 - = = = N = jah oD
SRS RN LPEENARARE | T "

5,000,000

0 -




BBISIZEIC DU T

D ERISHBEEE

BRI 2R T 2 72 O OFFIGIENRIT 6T 5
PR IR NMEEBR. MBOIEKR & OEE

2 FHIAFEDDOIROEEREFET

TEEINT EER 02.8 92.8 96.5 96.0 92.0 96. 1
NEEGBLEE 14.3 14.2 13.9 12.7 12.3 13.1
BAEL 14538 0.926 0.952 0.971 0.980 0.996 1.005




IR 32

D m A
Hifl — WEELE, SR A 0 OHERIZ K o T o "l aek:
PR ZFER L TS Z &N
WG AR, E - B, Fafe — RIS R O e

@ @ I
EHEEE R A0 & bIINT 5 b0 & BbhL,
—PHECHE, BiREELE, SERBENIRH 2 &R
IR DY
SRR OIED, AR b IR LB BB L 2o T

Q BIBEAE
e i 5 7 I % R L
507 B B IR O AT B L. FET BRI E E2 DD,
(TR, R OIH 2 & b 248




it Al RE /R B BLES DTS

/I_

@D 1T BREDTT
77 O = 2005 H17)ERRE X L, 2010 (H22) &
F TN, DX %X 5
5 o bE DHEE & BATR R R
ST AR, BURERE, #50 HHBEORE

2@ WMAICRGOICHIES

(H5] #Hld =2 BAICAET=HBGEE

MADHBICE DL = BREIURE O, il EE0
i ge

FOXICHoT-HEER = ML INAHEE, XY 2E~D
2% 77

HHROEME = HP. LW THEIFEROANE

10



